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1. White short notes on the following :
fraferfan w wftm feafiml fofeg
9 Government of India Act, 1858

T GLHR AT, 1858

Birsa Munda Movement
foran ger SgreH
Indigo Revolt
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d) Patna Kalam Painting
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Development of Caves in Eastern India in Ancient Time 7
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2. (a) Discuss the factors for the emergence of Indian National Movement. How it
gave direction to the freedom struggle? ' 38
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(yDiscuss the growth of colonial technical education in Bihar under various
schemes of British rule. Critically analyse its impact. 38
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3. (a) Analyse the devélopment of temples in North India in ancient time. 38
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Mescribe Rabindranath Tagore’s ideas of society and cultyre, 38
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4, Write short notes on the following -

Freferfea e ifiw Reoafirat Rk .

Where was the 18th Nationa] Scouts and Guides Jamboree organized? g
Describe its objectives.

I%WWE‘WWWW_@MWWWMW
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/(b’/ Explain the mandate of United Nations Public Administration Network in
' managing the peace and strong institutions under Sustainable Development

Goal-16. 8
Vg HY W S Yo % Wi @ ggg wensit B v % v e
-16 < YRR 1 33@ Hifv)
jﬁ}m::uss the right-based e-service delivery scenario of Bihar. 8

) ﬁ%ﬂ%aﬁﬁn-aﬂmé—hmﬁmmaﬁhiﬁr&m
Adl” Describe the efforts made in the field of solar power generation in the State .
of Bihar.
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('{Cﬂﬁéﬁlly‘ examine the features of self-reliance Bihar Saat Nischay-2
= +(2020-2025) programme:of-good-governance. . 7
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5. (a) What are the draft regulations announced recently by the University Grants
Commission to open the door for foreign universities to set up campuses in
India? What prospects do you visualize about their impact on higher education

in India? Do you think it will be a game-changer? Give arguments in support
of your answer, 38
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£6) In the wake of its criticism by the Vice-President of India recently, critically
~ examine the doct’rine'of basic structure given by the Supreme Court of India
half a century ago, Do you think this debate will prove to be a point of clash
between the €xecutive ang the judiciary in near future? Give arguments. 38
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6,-Ta) Do you think lnfiia muit re(;Laim the leadership of the developing world
through its ambition {0 Steer & G-20 Summit in Delhi to success later this
year, despite India’s OWN enduring developmental challenges? Do you think
India faces the real difflculty. of uniting the Global South in pursuit of common
goals? Write your answer With Convincing arguments. 38
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(b)  Evaluate the role of United Nations in access and resource management
about support of Syria and Turkey earthquake disaster. 38
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7. Study the following table carefully and answer the questions given below
this table :
Highest and Average murxs oorainea by students in five subjects
during 2012-2017. The maximum marks in each subject are 100,
Year Subject
English Hindi Mathematics ‘Science History
Highest|Average|Highest(Average|Highest Average|Highest|Average|Highest |Average
(H) (A) H ~[ (A (H) (A) (H) (A) (H) (A)
2012 | "85 [“657)-80 | 60" | 757" 60| 7650 | g0 | so
2013 | 80 | 609|775 " 63~) 75| 55 | 55 | 35 | 85 | 70
2014 | 83 62 | 80-.. 60 75 | 50 50 30 82 60
2015 70 55 75 50 85 65 85 55 | 80 60
N e , - % ,
2016 | 72 so | 70 80 55 90 60 90 65
2017 | 75 ,:,--66 | 80 60 85 | 70 70 40 o =




(a)

(b)

(c)

(d)

(e)

1)

Prfrfiaa wTRON 1 S Ao it v el & A g e IW
AT :

gt fawal o ol gr 2012 @ 2017 % Ay v I=H T IAEd I

weeh for 3 waifies aiw 100 2l
=t ; fawg
SO | ofmd | swow | otww | gwaw | ofwa | swww | ofww | I=aw | 3w

(H) (A) (H) (A) H | @) (H) (A) (H) (A)
2012 | 8s 65 80 60 75 6p' 76 50 80 50
2013 80 60 75 63 75 55 55 35 85 70
2014 83 62 80 60 75 |. 50 50 30 82 60
2015 70 55 75 50 85 65 85 55 80 60
2016 | 72 | so | 70 | so | 8 | s5 | 90 | 60 | 90 | 65
2017 75 60 80 60 85 70 70 40 70 55

What is the combined average marks of all the five subjects in 2015?

ol Tl =1 20158 W@y 3ad 3t w1 27

What is the percentage increase in average marks of English from
2015 to 20177

2015 | 2017 ¥ 30l o 3w 31 F Reay whvea 1 9fg 27

During which year the difference between the highest marks and highest
average marks in Maths was maximum?

mﬂﬁvﬁmﬁmwﬁmmmwmaﬁww?

What is the percentage of highest marks jn Hindi in 2013 with respect t
average marks of Maths in 2016? ‘ in Hin D .

2013 # f& & =W 31 H 2w, 0916 3 TOW F i 3w F R
yfemra 27 B ‘

If 50 students took the exam
total marks?

aﬁZOlSﬁSOﬁmﬁﬁﬁnﬁmﬁqﬁma 2 3% 31 1 Fl AN e an?

In between which two ye ; ) .
i vears, the difference of highest marks in Science was

S EIRES

ination jn, 9013 in Maths, what were their
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Study the following graph carefully and answer the questions given below :

Profit percent of companies ABC and DEF during the year 2001-2006

(P,rofit percent = Income — Expenditure % OO)

Expenditure

ABC
X - = -o- — - DEF

2001 2002 2003 2004 2005 2006
Years

1 71 1 ermgde srwrEA AR S AR R e Al % W AR
a9 2001-2006 1 37/aft F e HutEl ABC 3R DEF gra aifsia wfeerd &

70+
651
601
55T

T %

50T

45
40+

ABC
- - -o- — - DEF

0

2001 2002 2003 2004 2005 20'06
- :

(@) Let the income in 2005 of c't?mpanies ABC and DEF was in the ratio 3 : 4.
What was the ratio of expenditures of companies ABC and DEF in 2005? 8

w35 2005 & < F9E ABC 3R DEF 1 a1t swr: 3: 4 % s # o
2005 % 7% (S ABC 3 DEF %) & w1 weiferd 31ama =y o2

(b) If expenditure of company DEF in 2002 was ® 190 cr., what was its income
in the year 2002? ' 2

3 2002 e DEF 1 9 € 190 9% o, g 1w 2002 3 a o7
(c) I expenditures of company ABC and DEF were

income of both the companies in 2001 was &

total profit of both the companies in 20017

3R 2001 & % ABC 3 DEF % 5 g &) g 2001 ¥ 2} sufl H T

s ¥ 825 g o, 20014 A FUR 1 gy <y ®qy

equal in 2001 and total
825 cr., then what was the
10
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(d) Income of company ABC in 2004 was & 750 cr, What was the expenditure
in 2004? 5

‘aﬁzooﬁam:ﬁABcaﬁrmmsomamm@éaﬁ 2004 3 11 217

(e) If income of both the companies wag equal in 2003, find the ratio of
expenditures of company ABC and DEF ; in 2003. 8
M2 2003 H 1 il 3 s e o, ) 03 4 FR ABC % = 1

DEF % =11 § 319 31 &1 7

8. The Bar Graph given below shows the sales of books (in thousand numbers)

from six branches of a publishing company during two consecutive years 2000
and 2001. -

Sales of Books (in thousand numbers) from Six Branches—B1, B2, B3, B4, B5

and B6 of a publlshmg company in 2000 and 2001 are followmg
120

b e (o3 R 5
-

)
—
(=]
T

80

O N @ W
S 68
I
a

50— -
40—
30—

20— -
10

Sales (in thousand numbers

o i i i b E
) b B2 5= _B3 B4 B5 B6
Branches 71 2000 F32001
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o8 TSl A gt B R (2R e A) g 2

2000 31 2001 & T WA H 4 wg yransii—B1, B2, B3, B4, BsaﬂtBs
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5 i i i
e B3 B4 B5 B6
() What is the ratio ¢ it 2001
(o)’ What is the-ratio of th it 74 2000 E3

total sales of Branch R4 fzrtgtii‘s ales of Branch B2 for both years to the

ﬁ—_ﬁaﬁ%mw B Years?
4 g Ay m%ﬁﬁmaﬁaﬁ%mm B4ﬁ3°’aﬁ"ﬁ
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(b) Total sales of Branch B6 for both the Years are what
S R for both the years? at percent of the total sales

2t et 3 frw wran B6 P A TR, 3 aret 3 fire vmar B3 1 e skl
ferqn wftera 20

(c) What percent of the average sales of branches B1, B2 and B3 in 2001 is the
average sales of branches B1, B3 and B6 in 2000? 8

2001 & wraatt B1, B2 37 B3 6 aftaq Rl w1 Rean v 2000 F @i
B1, B3 aiR B6 1 i ifsshl 27

(d) What are the average sales of all the branches (in thousand numbers) for the
year 20007 8

a§ 2000 ¥ R wft sl 6 aeq feh (g @En #) e 27

(e} Atotal sale of branches B1, B3 and B5 together for both the years (in thousand
numbers) is what? 6

At It % o s Bl,BsaﬂiBSaﬁﬁﬁﬁ(mmﬁ)ﬁmrﬁ%?
J'0\“'r/ arerar

The following pie-chart shows the ‘percentage distribution of the total

‘expenditure - incurred by a company in different expense sections

during 2015. Study the pie-chart and answer the questions given below :

Percentage distribution of total expenditure of a company

Infr = Infrastructure

Tra = Transport

Adv = Advertisement

Tax = Taxes

R&D = Research and
Development

Sal = Salary

Int. = Interest on Loans
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Hr e m ge-am, 2015 % 3 fiyfiy g g B T TN B FA =
Wmﬁwaﬂhélqwmmamwaﬂiﬁqmﬂﬁ%m

Infr =§Efm?ﬂﬁ%f
Tra = 9iE&

Adv = o

Tax = X

R&D = MY 3N fawma
Sal = TR

Int = R YT 9

(a) How much times the total expenditure of the company is of expenditure of
research and development?

ST & = H FA TR My 3R R w o Y R T 27

(b) If expenditure on transport is ?"2;crores, then what will be the difference
- between the expenditures on salary and adyertisement?

e TREE R 208 R, @ win iy fgrd W@ & i R S 27
(c)

(d) If expenditure on interest o ; ill be the total
expenditure on adyertjs nloan js & 260 crores, then what will be

ement, tayos and salary?
ST T T o . L ( i
wghy OB Ry g s TR W R F

(e) How much timeg :
expenditure on ad‘};ﬁilefference of expengiture on interest on loans i

TR T g gy ment is of the expenditure On advertisement?
T RY? *m%mwmm%mmm
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